ATP’s value creation ratios
ATP’s value creation ratios consist of the following:

*  Value creation, total
¢ Value creation from pensions
e  Guaranteed pensions
e Life annuity with market exposure
e Value creation from undistributed funds
. Bonus potential
o Long-term supplementary provision

The ratio ‘Total value creation’ is an expression of the to-
tal value creation in ATP. It is calculated by aggregating the
value creation in the individual parts of ATP. Below is a de-
scription of how the value creation in the individual parts is
calculated and how the aggregation is done.

Guaranteed pensions

Value creation from guaranteed pensions describes the
average return that occurs in the guaranteed pensions du-
ring the period. This ratio illustrates the connection between
the contributions paid and the benefits that have been gua-
ranteed (cash flows). The value creation from each period is
calculated as the return on a ‘pension account’ (PA), which
corresponds to the value of all interest-bearing contributi-
ons to a guaranteed pension.

It has not been possible to recreate the guaranteed cash
flows from ATP’s start in 1964. The value of the pension ac-
count when this calculation started at the beginning of 2008
has therefore been determined at DKK 281bn, correspon-
ding to the value of the guaranteed benefits at the end of
2007. The amount of DKK 281bn is considered an individual
contribution to the pension account.

Based on the guaranteed cash flow at the end of 2007, the
return on this contribution can be determined as the inte-
rest, r, which satisfies the following equation:

Contribution = YCF(t) (1+r)(t-2008)

year-end 2007
where CF(t) is the payout from the guaranteed cash flow un-
til the time, t. It is assumed that all payouts are made mid-
period.

Looking forward, contributions will be made to the pension
account in the form of, for example, ordinary contributions
from members, update of life expectancy, addition of bonus,
transfers from life annuity with market exposure, etc. At the
end of a year, the contributions, C(t), added to the guaran-
teed benefits over the year can be calculated. At the same

time, the acquired guaranteed cash flow can be calculated
by deducting the cash flow at the beginning of the year from
the cash flow at year-end:

ACF = guaranteed cash flow, year-end - guaranteed cash
flow, beginning of year

The interest on period i’s contributions is the interest, r, that
satisfies the equation:

SCH)(1+n) [+ 9= TACF(t)(1+r) t-0+1)

For each period, the interest payable on contributions in fu-
ture will be calculated to ensure that contributions made in
the year correspond to the future guaranteed payouts re-
lating to these contributions. Accordingly, the pension ac-
count can be seen as a number of subaccounts that each
bears the interest that was determined in the period in which
the relevant subaccount was set up. By taking the sum of all
sub-accounts at the beginning and end of the period, the to-
tal value of the pension account at the beginning and end of
the period is determined. When adjusting for any payments,
P(t), and contributions, C(t), over the year, the interest on the
pension account can be calculated as the interest, r, that
satisfies the equation:

PA =YCH)A+NH1 - SPH)A+NH1Y +(1+r)PA

year-end beginning of

year

Life annuity with market exposure

The provision for annuity with market exposure, PM, is re-
cognised at the beginning and end of the period. This will
have changed with the return that was attributed to life an-
nuity with market exposure during the period. The calcula-
tion of value creation also takes into account the period’s
payments (transfer to a regular life annuity), P(t), and con-
tributions, C(t).

PM =FCH)A+NH1 - TPR)(1+H)Y +(1+)PM

year-end beginning of

year

Bonus potential

The bonus potential, BP, is calculated at the beginning and
end of the period and adjusted for the contributions, C(t)
(bonus contributions), and payments, P(t) (longevity upda-
tes, bonuses, etc.) that occurred during the year. The inte-
rest on the bonus potential is the interest, r, that satisfies
the equation:

BP =Y CH)A+N™1 - TP (1+n)*Y +(1+n)BP

year-end beginning of

year



Long-term supplementary provision

The long-term supplementary provision, LSP, is calculated
at the beginning and end of the period and adjusted for the
contributions, C(t), and payments, P(t), that occurred du-
ring the period. The change in the long-term supplementary
provision from interest is recognised as an addition to the
long-term supplementary provision so that the value crea-
tion from LSP reflects the return in the related Supplemen-
tary Hedging Portfolio. The value creation for the long-term
supplementary provision is the interest rate, r, which fulfils
the equation

LSP SCH)(1+n)H1Y - TPB)(14+n)H1 +(14r)LSP

year-end = beginning

of year

Value creation from pensions

Value creation from pensions is the aggregated value crea-
tion from guaranteed pensions and life annuity with market
exposure. The ratio is calculated by taking the sum of the
pension account and the provision for life annuity with mar-
ket exposure (PA+PM), at the beginning and end of the year,
adjusted for the sum of incoming and outgoing payments to
the pension account and life annuity with market exposure.
Value creation from pensions is the interest rate, r, that fulfils
the equation

(PA+BP) =XC(t)(1+n 1 D-ZPE)(1+r)+1-+(1+r)(PA+BP)

year-end

beginning of year

Value creation from undistributed funds

Value creation from undistributed funds is the aggregated
value creation from the Bonus Potential and Long-term sup-
plementary provision. The ratio is calculated by taking the
sum of Bonus Potential and Long-term supplementary pro-
visions (BP+LSP), at the beginning and end of the year, ad-
justed for the sum of payments into and out of the Bonus
Potential and Long-term supplementary provisions. Value
creation from undistributed funds is the interest rate, r, that
fulfils the equation

=Y CH)(1+n) DT PER)(1+r)+1D)
+(14r)(BP+LSP)

(BP+LSP)

year-end

beginning of year

Value creation, total

Total value creation is the aggregated value creation from
pensions and undistributed funds. The ratio is calculated by
taking the sum of pensions (P = PA + PM) and undistributed
funds (UF = BP + LSP) at the beginning and end of the year,
adjusted for the sum of incoming and outgoing payments to
pensions and unallocated funds. Total value creation is the
interest rate, r, that fulfils the equation

(P+UF) =SCH(A+NH0-ZPH)(1+r) [+ V4 (14r)(P+UF)

year-end begin-

ning of year



